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Q.1 Select the correct mirror image of the given figure when the mirror is placed at MN as shown below

M

hiEraRchY|

N

" v YroAsi3id
<= yrlafAs13in
<> YHoAsAdid

<+ yHafAs13in

Al

Q.2 In a certain code language, ‘heart games’ is coded as ‘alarm coffee’, ‘wrap’ is coded as
‘bottle’, and ‘wrap games’ is coded as ‘bottle coffee’. What is the code word for
‘heart’?

Ans o 1.alarm
X 2. wrap
5 3. bottle

X 4. coffee
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Q.3 Select the option that is related to the fifth number in the same way as the second
number is related to the first number and the fourth number is related to the third
number.

15:4::21:6::42:7
Ans X 1.8

X 2.12

o 3.13

X411

Q.4 Select the option that is related to the third word in the same way as the second word
is related to the first word. (The words must be considered as meaningful English
words and must not be related to each other based on the number of letters/number of
consonants/vowels in the word.)

Argentina : Peso :: Japan : ?

Ans  # 1.Yen
< 2.Rial
X 3. Krona
< 4. Guilder

Q.5 Select the option figure which is embedded in the given figure. (Rotation is NOT
allowed)
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Q.6 Which letter-cluster will replace the question mark (?) to complete the given series?
CJEZ, ?, WFYV, TDVT, QBSR

Ans X 1.AGCX
o 2. ZHBX
X 3.BGAW
X 4. BHAY

Question ID : 26433068039
Status : Answered
Chosen Option : 2

Q.7 Which of the numbers(not digits) should be interchanged in the below equation to
make it mathematically correct?
108 +9x16 +12-27 =126

Ans X 1.12and 27
o 2.9and 12
< 3.16and 9
X 4.27and 9

Question ID : 264330117492
Status : Answered
Chosen Option : 2

Q.8 Which two signs should be interchanged to make the below equation mathematically
correct?
44 -96 x4 +3 +58=30

Ans X 1.-and =+
K 2.xand +
K 3.+and-
o 4. +and x

Question ID : 264330114195
Status : Answered
Chosen Option : 4

Q.9 In a certain code language, '"ARGUE’ is written as '22620926' and 'BEACH' is written as
'1924262225'.How will '"ACCEL"' be written in that language?

Ans X 1.1522226426
X 2. 1524242426
X 3.1252242426
o 4. 1522242426

Question ID : 26433069553
Status : Answered
Chosen Option : 4
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Q.10 Six friends M, N, O, P, Q and R are sitting in a straight row facing north. Exactly three
people are sitting to the left of N. O is sitting immediately to the right of N. M and P are
immediate neighbours of Q such that M is the fourth to the left of O. Where is R
seated?

Ans X 1. Second to the left of N
&" 2. Third to the right of P
< 3. Immediate right of M
5 4. Third to the left of O

Question ID : 26433074526
Status : Answered
Chosen Option : 2

Q.11 Which letter-cluster will replace the question mark (?) to complete the given series?
ACEG, BDFH, ? , DFHJ, EGIK

Ans X 1.CDEF
« 2. CEGI
X 3.CFHJ
X 4.CEHI

Question ID : 26433067710
Status : Answered
Chosen Option : 2

Q.12 Which option represents the correct order of the given words as they would appear in
the English dictionary?
1 power
2 pour
3 powder
4 pointed
5 polite

Ans X 1.42531
o 2.4523,1
X 3.4352,1
X 442315

Question ID : 26433069283
Status : Answered
Chosen Option : 2
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Q13 Which figure should replace the question mark (?) if the series were to be

continued?
C B|S Z|4 B|S £
’ 2 . s« | 9
S 24 B|S €| Z B
Ans 1 3
x 1. &
B i
/ B
x 2 g
4 C
7 B
3. C
S 4
& 5
x 4 B
= Z

Question ID : 26433076635
Status : Answered
Chosen Option : 2

Q.14 Select the option that is related to the third word in the same way as the second word
is related to the first word. (The words must be considered as meaningful English
words and must not be related to each other based on the number of letters/number of
consonants/vowels in the word.)

Goldsmith : Ornaments :: Sculptor : ?

Ans X 1.Sand
25 2. Museum
/< 3. Stone
o 4. Bust

Question ID : 26433069582
Status : Answered
Chosen Option : 3
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Q.15 Six people J, K, L, M, N and O are sitting around a circular table facing the centre. J
sits second to the right of N. O is an immediate neighbour of M and J. K sits second to
the left of L. Who sits to the immediate right of O?

Ans X 1.K
X 2.N
o 3. M
X 4L

Question ID : 26433069479
Status : Answered
Chosen Option : 3

Q.16 Two different positions of the same dice are shown having numbers 1 to 6 represented as dots. Find the

number on the face opposite the face showing *5°.

Ans 1.4
X 2.6
K 3.2
X 4.1

Question ID : 26433085524
Status : Answered
Chosen Option : 1

Q.17 Three statements are given followed by two conclusions. Assuming the statements to
be true, even if they seem to be at variance with commonly known facts, decide which
of the conclusions logically follow(s) from the statements.

Statements:

All tables are woods.

All woods are paints.

No paint is a steel.
Conclusions:

1. All steels can be woods.
2. Some paints are steels.

Ans X 1. Both conclusions 1 and 2 follow.
o 2. Neither conclusion 1 nor 2 follows.
#< 3. Only conclusion 1 follows.

#5 4. Only conclusion 2 follows.

Question ID : 26433089422
Status : Answered
Chosen Option : 2
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Q.18 Which number will replace the question mark (?) in the following series?
1,5, 7, 25,41, 61

Ans X 1.10
o 2. 13
X 3.8
X 4.12

Question ID : 26433067842
Status : Answered
Chosen Option : 2

Q.19 Which of the following numbers will replace the question mark (?) in the given series?
16, 23, 34, 47, 64, ?, 106

Ans  # 1.83
2 2.9
< 3.98
/< 4.86

Question ID : 26433070216
Status : Answered
Chosen Option : 1

Q.20 ‘A + B’ means ‘B is the father of A’
‘A — B’ means ‘B is the mother of A’
‘A @ B’ means ‘B is the brother of A’
‘A* B’ means ‘B is the son of A’
IfA*B+ C @D -E, then how is E related to A?

Ans X 1.Sister
75 2. Mother
" 3. Mother-in-law
< 4. Brother’s wife

Question ID : 26433068532
Status : Answered
Chosen Option : 3

Section : Part-B-General Knowledge and General awareness

Q.1 An instrument that can detect the presence of a current in a circuit is known as

Ans X 1. odometer
75 2. speedometer
< 3. hygrometer

¥ 4. ammeter

Question ID : 26433089647
Status : Answered
Chosen Option : 4
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Q.2 Who has sworn in as 50th Chief Justice of India?
Ans X 1.Uday Umesh Lalit

&” 2. Dhananjaya Yashwant Chandrachud
#< 3. Sharad Arvind Bobde
75 4. Nuthalapati Venkata Ramana

Question ID : 264330114982
Status : Answered
Chosen Option : 2

Q.3 Radha Sridhar won the Sangeet Natak Akademi Award in 2018 in
Ans X 1.Kathak

< 2. Odissi
& 3. Bharatnatyam
5 4. Manipuri

Question ID : 264330115876
Status : Not Answered
Chosen Option : --

Q.4 Powers, authority and responsibilities of Municipalities are dealt under which
schedule?

Ans X 1.11th
X 2.13th
< 3. 10th
o 4. 12th

Question ID : 264330115614
Status : Answered
Chosen Option : 1

Q.5 Which political leader quit Indian National Congress following differences with party
leadership in May 20227

Ans X 1. Sonia Gandhi
X 2. Mallikarjun Kharge
& 3. Kapil Sibal
#< 4. Shashi Tharoor

Question ID : 264330114914
Status : Answered
Chosen Option : 3
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Q.6 How many types of Bihu festival are celebrated in Assam?
Ans X 1.6

2.3
X 3.5
X 4.2

Question ID : 264330106203
Status : Answered
Chosen Option : 2

Q.7 The concepts of Dhamma was popularized by which of the following Mauryan kings?
Ans  # 1. Ashoka

< 2. Bindusara
/< 3. Dasaratha
X 4. Chandragupta

Question ID : 264330115452
Status : Answered
Chosen Option : 1

Q.8 The Dronacharya Sports Award is given to the
Ans X 1.Captain of the Team

X 2. Best player of The team
< 3. President of the team
" 4. Coach of the Team

Question ID : 264330116290
Status : Answered
Chosen Option : 4

Q.9 Planning Commission was established under on March 15, 1950
Ans X 1.APJ Abdul Kalam

75 2. Indira Gandhi
75 3. Subhash Chandra Bose
& 4. Jawahar Lal Nehru

Question ID : 264330115380
Status : Answered
Chosen Option : 4

Q.10 Availability of during winter months due to the western temperate cyclones
helps in the success of rabi crops.

Ans X 1. frost
&" 2. precipitation
X 3.fog
X 4. wind

Question ID : 264330115526
Status : Answered
Chosen Option : 1
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Q.11 On September 1948 the Indian army intervened and took control of which princely
state?

Ans X 1.Assam
75 2. Uttar Pradesh
¥ 3. Hyderabad
5 4. Tripura

Question ID : 264330115688
Status : Answered
Chosen Option : 3

Q.12 Which Indian organisation is responsible for collecting data on poverty in the country?
Ans X 1.NITl Aayog

75 2. National Organisation for Social Empowerment
& 3. National Sample Survey Organisation

#< 4. Office of Registrar General and Census Commissioner of India

Question ID : 264330116076
Status : Answered
Chosen Option : 1

Q.13 The council of ministers is collectively responsible to the
Ans X 1.people

" 2. lok sabha
75 3. chief minister

75 4. governor

Question ID : 26433086672
Status : Answered
Chosen Option : 3

Q.14 The classical text, Hasthalakshana Deepika, is associated with which Indian classical
dance form?

Ans X 1. Sattriya
75 2. Kuchipudi
X 3. Bharatanatyam
" 4. Kathakali

Question ID : 26433069902
Status : Not Answered
Chosen Option : --
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Q.15 Government goods and services that aren't sold directly to the consumers, for
example defence goods, roads are categorised under:

Ans X 1. private goods
< 2. international goods
¥ 3. public goods

X 4. expensive goods

Question ID : 264330115279
Status : Answered
Chosen Option : 3

Q.16 What is an area of dry land that lies on the leeward side of a mountain called?

Ans ¥ 1. Rainshadow area
X 2. Windward Side
< 3. Leeward Side

75 4. Mountainous areas

Question ID : 264330115981
Status : Not Answered
Chosen Option : --

Q.17 The national level cricket championship, Ranji Trophy, began in
Ans 4 1.1934-1935

X 2.1953-1954
X 3.1950-1951
X 4.1944-1945

Question ID : 26433089922
Status : Not Answered
Chosen Option : --

Q.18 The National Food and Security Act of 2013 (NFSA2013) provides subsidised food
grains to of India's rural population.

Ans X 1.95%
o 2. 75%
X 3.65%
X 4.85%

Question ID : 264330116156
Status : Answered
Chosen Option : 2
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Q.19 Select the second step of decomposition.
Ans  # 1. leaching

Z< 2. fragmentation
75 3. catabolism
X 4. humification

Q.20 Any person in-charge of or employed in a child care institution, who subjects a child
to corporal punishment shall be liable under

Ans X 1.Indian Advocate's Act
75 2. Hindu succession act
& 3. Juvenile Justice Act

#< 4. Hindu adoption act

Question ID : 264330116222
Status : Answered
Chosen Option : 4

Section : Part-C-Elementary Mathematics

Q.1 The LCM of 192 and 480 is 60 more than the 100 times of X. What is the value of X?
Ans X 1.6

X 2.12
o 3.9
X 4.18

Question ID : 264330116631
Status : Answered
Chosen Option : 3

Q.2 Divide Rs.500 among A, B, C and D so that A and B together get thrice as much as C
and D together, B gets 4 times what C gets and C gets 1.5 times as much as D. The
value of B’s share is:

Ans X 1.Rs.250
o« 2. Rs.300
X 3.Rs125
X 4.Rs.75

Question ID : 26433076038
Status : Answered
Chosen Option : 2
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Q.3 A’s speed is 30% more than that of B. If A and B run a race on a 117 m length race,
what part of the length of the race should A give B as a head start, so that the race
ends in a dead heat?

Ans X 1.90m
X 2.117m
o 3.27Tm
X 4.36m

Question ID : 26433080051
Status : Answered
Chosen Option : 3

Q.4 Asingle discount equivalent to two successive discounts 15% and 25% is:
1

3

X2 26-%
4

Ans

x 3. 3810
4

74 36i%

Q.5 A certain sum of money fetches simple interest of Rs.4,016.25 at the rate of 7% per
annum in 5 years. What is the sum?

Ans X 1.Rs.10,475
X 2.Rs.9,475
75 3.Rs.11,400
& 4.Rs.11,475

Question ID : 26433075237
Status : Answered
Chosen Option : 4

Q.6 A person drives for 320 kms in 8 hours, cycles for 40 kms in 5 hours and then walks
for 40 kms in 7 hours. Find the average speed of the driver.

Ans o 1. 20 kmph
5 2.18 kmph
75 3.22 kmph
X 4.22.22 kmph

Question ID : 264330116686
Status : Answered
Chosen Option : 1
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Q7 e
Find the remainder of anzs™ z
Ans X 1.4
X 20
o 3.1
X 4.2

Question ID : 26433080385
Status : Answered
Chosen Option : 3

Q.8 Two years ago, the population of a town was 66000. The population increased by 5% in

the first year and decreased by 5% in the second year. Find the present population of
the town.

Ans X 1.68553
X 2.63855
o 3.65835
X 4.65583

Question ID : 26433075196
Status : Answered
Chosen Option : 3

Q.9 The radius of the base of a conical vessel is 5 cm and its height is 24 cm. The vessel is
full of water. This water is poured into a cylindrical vessel having the base radius 10
cm. The depth of the water in the cylindrical vessel is:

Ans X 1. 1cm
K 2.4cm
" 3. 2cm
X 4. 3cm

Question ID : 26433075213
Status : Answered
Chosen Option : 3

Q.10 Three partners A, B and C started a business and decided to share the profit in the

ratio 2 : 3 : 5, respectively. If the share of B is Rs.7,50,000, then calculate the total
profit.

Ans X 1.Rs.24,00,000
75 2. Rs.20,00,000
¥ 3. Rs.25,00,000
< 4.Rs.27,00,000

Question ID : 26433075976
Status : Answered
Chosen Option : 3
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Q.11 P can do as much work as Q and R together can do. P and Q can together do a piece
of work in 8 hours and 24 minutes and R can do it in 42 hours. Find the time (in hours)
that Q needs to do the work alone.

Ans X 1.22hours
& 2.24 hours
«¥ 3. 21 hours
25 4.20 hours

Question ID : 264330116906
Status : Answered
Chosen Option : 3

Q.12 Salary of a person is first decreased by 40 percent and then increased by 40 percent.
What will be the percentage decrease in the salary ?

Ans X 1.18 percent
X 2.12 percent
«" 3. 16 percent
< 4.15 percent

Question ID : 26433079854
Status : Answered
Chosen Option : 3

Q.13 Find the total surface area of a cylinder whose height is 8.5 mm and the base diameter
is 10 mm.

Ans 1 1351 mm?
X 2.85.51 mm?2
X 3.67.5m mm?2
X 4.120m mm?

Question ID : 26433080249
Status : Answered
Chosen Option : 1

Q.14 Excluding the stoppages, the speed of a truck is 90 km/h and including the stoppages,
the speed of the truck is 36 km/h in a journey. For how many minutes does the truck
stop per hour?

Ans X 1.54 minutes
" 2. 36 minutes
< 3. 40 minutes
X 4. 42 minutes
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Q.15 A dealer offers 20% discount on all dolls. He offers a further discount of 5% on the
reduced price to those customers who pay in cash. How much will a customer pay in
cash for a doll worth Rs.1,8007

Ans X 1.Rs.800

& 2.Rs.1,368
X 3.Rs.1,225
X 4.Rs.1,532

Question ID : 26433083041
Status : Answered
Chosen Option : 2

Q.16 In a storm 243 trees were left standing out of 300 trees in a garden. What is the
percentage decrease in number of trees?

Ans  # 1.19 percent
X 2. 22 percent
/5 3. 24 percent
X 4. 21 percent

Question ID : 264330116826
Status : Answered
Chosen Option : 1

Q.17 A shopkeeper sells his goods at 10 percent loss on cost price but uses 30 percent less
weight. What is his profit?

Ans 4
1 28; percent

4
X 2. 21; percent
5
X 3. 25; percent

X 4. 20; percent

Question ID : 26433079864
Status : Answered
Chosen Option : 1

Q.18 If 6 men or 8 women can reap a field in 21.5 days. How long will 14 men and 10 women
take to reap it?

Ans X 1.9days
X 2.8days
" 3.6 days
< 4.12 days

Question ID : 26433076209
Status : Answered
Chosen Option : 3
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Q.19 The average of the cube of the first 4 natural numbers is:
Ans 7 1.25

< 2.100

X 3.75

X 4.50

Question ID : 26433075718
Status : Answered
Chosen Option : 1

Q.20 Rita buys a toy car for Rs.12,000 and sells it for Rs.14,500. What is her gain percent?
(rounded off to two digits after decimal)

Ans 7 1.20.83%
X 2.18%
X 3.22%
X 4.14.50%

Question ID : 26433074920
Status : Answered
Chosen Option : 1

Section : Part-D-English

Q.1 The sentence given below has one misspelt word. Spot the INCORRECTLY spelt word
and select its correct spelling.

Too much bureacracy suppresses creativity.
Ans  #* 1. Bureaucracy
75 2. Burocracy
< 3. Bureaukracy
75 4. Burreaukracy

Question ID : 26433073555
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate option that can substitute the underlined segment in the

given sentence.
The mob broke up the norms of the country.

Ans 1. violated
X 2.invade
< 3. disturb
X 4. damaged

Question ID : 26433086464
Status : Answered
Chosen Option : 1
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Q.3 Select the most appropriate option to fill in the blank.

The skeleton of an unknown person has been hanging on the tree last
Wednesday.

Ans X 1.through
" 2. since
< 3. about

< 4. for

Question ID : 26433074364
Status : Answered
Chosen Option : 2

Q.4 Select the most appropriate synonym of the given word.

Hesitation
Ans X 1.Readiness

" 2. Reluctance
< 3. Prudence
75 4. Creativity

Question ID : 26433073465
Status : Answered
Chosen Option : 2

Q.5 Select the correct word for the blanks in the given sentence.

There is a provision of delivery in every courier service whereas a child can
his feelings at the age of 2 years or so.

Ans X 1.normal

75 2. fast
< 3. slow

o 4. express

Question ID : 26433060536
Status : Answered
Chosen Option : 4

Q.6 Select the most appropriate meaning of the underlined idiom in the given sentence.
The second wave of the pandemic left everyone in the doldrums.
Ans X 1.In confusion
75 2. In deep sympathy
#< 3. In need of help

& 4. In low spirits and despair

Question ID : 26433073759
Status : Answered
Chosen Option : 4
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Q.7 Select the most appropriate word to complete the meaning of the sentence.
The new owners of the newspaper had changed the completely.

Ans & 1. layout

7 2. outlay

75 3. outlook

X 4. outlet

Question ID : 26433088875
Status : Answered
Chosen Option : 4

Q.8 Select the most appropriate ANTONYM of the given word.

Dream
Ans X 1. Delusion
X 2. Fancy
75 3. Imagination
o 4. Reality

Question ID : 26433072208
Status : Answered
Chosen Option : 4

Q.9 Select the most appropriate synonym of the given word.
Colossal
Ans o 1. Immense
< 2. Joyous
75 3. Entertaining
X 4. Fantastic

Question ID : 26433088997
Status : Answered
Chosen Option : 1

Q.10 Select the most appropriate ANTONYM of the underlined word in the following
sentence.

His ancestors are native to this place.
Ans X 1.Innate

< 2. Community
75 3. Enemy
" 4. Foreign

Question ID : 26433072240
Status : Answered
Chosen Option : 4
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Q.11 Select the most appropriate meaning of the given idiom.

Where the shoe pinches
Ans X 1. Tight fitting shoes
75 2. Expensive shoes
< 3. Where the comfort is more

& 4. Where the difficulty lies

Question ID : 26433072221
Status : Answered
Chosen Option : 4

Q.12 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

She couldn’t get over with Thomas due to his addiction to alcohol.
Ans X 1.get at with Thomas due to

" 2. get along with Thomas due to
< 3. get off with Thomas due to
< 4. get rid with Thomas due to

Question ID : 264330100989
Status : Answered
Chosen Option : 2

Q.13 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

For the last three years, / Sunita had been running / private hostels near this
university.

Ans  «# 1. Sunita had been running
X 2. No error
/X 3. private hostels near this university

< 4. For the last three years

Question ID : 26433073763
Status : Answered
Chosen Option : 3

Q.14 Select the INCORRECTLY spelt word.
Ans X 1.Powerful

& 2. Willfull
75 3. Grateful
5 4. Doubtful
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Q.15 Identify from the following options the word which is OPPOSITE in meaning to the
given word.
Opaque

Ans X 1.Intangible
X 2. Shadowy
& 3. Transparent
< 4. Reflector

Question ID : 26433088816
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The life (1) of a banana is a colourful one; it starts with a deep green, changes to a
delicious yellow and ends at an unappetizing brown. Bananas, like most fruits, produce and
(2) with an airborne hormone called ethylene. This hormone helps to signal the

ripening process. An unripe fruit is hard and acidic. It is likely to possess a greenish (3)

due to the presence of chlorophyll. When a fruit comes into contact (4)
ethylene, the acids in the fruit start to break down, it becomes softer and the green chlorophyll
is (5) and replaced, in the case of bananas, with a yellow hue.

SubQuestion No : 16
Q.16 Select the most appropriate option to fill in blank number 1.
Ans X 1.span

X 2. story

o 3. cycle
& 4. time

Question ID : 26433072056
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The life (1) of a banana is a colourful one; it starts with a deep green, changes to a
delicious yellow and ends at an unappetizing brown. Bananas, like most fruits, produce and
(2) with an airborne hormone called ethylene. This hormone helps to signal the

ripening process. An unripe fruit is hard and acidic. It is likely to possess a greenish (3)

due to the presence of chlorophyll. When a fruit comes into contact (4)
ethylene, the acids in the fruit start to break down, it becomes softer and the green chlorophyll
is (5) and replaced, in the case of bananas, with a yellow hue.

SubQuestion No : 17
Q.17 Select the most appropriate option to fill in blank number 2.
Ans X 1. differ

< 2. correspond
< 3. tamper
¥ 4. react

Question ID : 26433072057
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The life (1) of a banana is a colourful one; it starts with a deep green, changes to a
delicious yellow and ends at an unappetizing brown. Bananas, like most fruits, produce and
(2) with an airborne hormone called ethylene. This hormone helps to signal the

ripening process. An unripe fruit is hard and acidic. It is likely to possess a greenish (3)

due to the presence of chlorophyll. When a fruit comes into contact (4)
ethylene, the acids in the fruit start to break down, it becomes softer and the green chlorophyll
is (5) and replaced, in the case of bananas, with a yellow hue.

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in blank number 3.
Ans X 1.seed

X 2. flesh
75 3. fibre
o 4. hue

Question ID : 26433072058
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The life (1) of a banana is a colourful one; it starts with a deep green, changes to a
delicious yellow and ends at an unappetizing brown. Bananas, like most fruits, produce and
(2) with an airborne hormone called ethylene. This hormone helps to signal the

ripening process. An unripe fruit is hard and acidic. It is likely to possess a greenish (3)

due to the presence of chlorophyll. When a fruit comes into contact (4)
ethylene, the acids in the fruit start to break down, it becomes softer and the green chlorophyll
is (5) and replaced, in the case of bananas, with a yellow hue.

SubQuestion No : 19
Q.19 Select the most appropriate option to fill in blank number 4.
Ans X 1.over

25 2. from
K 3.by
& 4. with

Question ID : 26433072059
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The life (1) of a banana is a colourful one; it starts with a deep green, changes to a
delicious yellow and ends at an unappetizing brown. Bananas, like most fruits, produce and
(2) with an airborne hormone called ethylene. This hormone helps to signal the

ripening process. An unripe fruit is hard and acidic. It is likely to possess a greenish (3)

due to the presence of chlorophyll. When a fruit comes into contact (4)
ethylene, the acids in the fruit start to break down, it becomes softer and the green chlorophyll
is (5) and replaced, in the case of bananas, with a yellow hue.

SubQuestion No : 20
Q.20 Select the most appropriate option to fill in blank number 5.
Ans  # 1. broken up

X 2. brought to
< 3. fallen into
75 4. turned down

Question ID : 26433072060
Status : Answered
Chosen Option : 3

Section : Part-D-Hindi

Q1 IYFF AN MR H HH Tgd &a 2
SWRITd IR | NI & TG 3T DI AT UG YA B2
Ans X' 1. 3f&d
X 2. g
X 3.9gH
o 4.

Question ID : 26433062689
Status : Not Answered
Chosen Option : --

Q.2 Yo Ir9d BT gD fean”
ST IR | $RS TIa= Ffe Tgama Huferad § A [ are ST 999 S|

Ans X 1. gorg A 94 BT I fed
o 2. Io1 A 99 DI KD I
X 3. o1 T6d B g T
X 4. gora X9 B G 4|

Question ID : 26433066964
Status : Not Answered
Chosen Option : --
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Q.3 i areaiw ¥ e e arde e w1 grme?
S gBTF AfT 8

Ans X 1. i
X 2. @A
X 3. SR

o 4. IS

Question ID : 26433069987
Status : Not Answered
Chosen Option : --

Q4 Fofafld are & Yaifea verdf s gm o1 Iuged o qang|
TR 7ia & fiud & wa-aw IS 7

Ans o 1. SMUT-ETT
X 2. gy
X 3. Ifd-=mud
X 4.3 SR Wa-9|

Question ID : 26433091331
Status : Not Answered
Chosen Option : --

Q5 fFafafed vl § & #1791 s el 7w 87
Ans X 1.§RT

X 2.9

o 3.7

X 4.Tew

Q.6 frufafed o # Yw@ifed W & I g &1 T Fxe Reawi= 31 gfid Fifem-
qTed | quf B TG HH & gl B, TIE T1ed auf F TR=Emas g1

Ans X 1. TgH
o 2. 90¢
X 3. 3feRT
X 4.1l

Question ID : 26433091346
Status : Not Answered
Chosen Option : --
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Q7 SR A @ @
IR qTHR BT 3YUT TAATHBTA | TR0 FIT gRM?

Ans 1 SRR @M @1 IET 8
¥ 2. SR WM @A gnT|
X 3. ST A @ 4T G g
X 4. IS SRR W @M BT 8

Question ID : 26433066977
Status : Not Answered
Chosen Option : --

Q.8 for Wit F g 3R ufay 7 g areaiw & fore 37 A O Weg w72
Ans X' 1.9Ydl

X 2. fayar

X 3. FdANT

o 4. AR

Question ID : 26433092245
Status : Not Answered
Chosen Option : --

Q9 B fRpey § Har: SPie-aets fhar &1 agt gm g mar 3
Ans X 1. @I, foRa

X 2. %e, i

o 3. TR &

X 4. 951, AT

Question ID : 26433063046
Status : Not Answered
Chosen Option : --

Q.10 fEfifad o & g TS A gfg 32
weTred auf 9t shda wafify Ff

Ans X 1. Sidd
X 2.9
X 3.
o 4. HaRE

Question ID : 26433066750
Status : Not Answered
Chosen Option : --
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Q.11 fPrafifed & & = arw 2-

Ans X 1. Tig T BT 3T RIp B
& 2. Tie- T o 3t Ry 71
X 3. g T @ 3re w81
X 4. 75T M BT 30em R B

Question ID : 26433066840
Status : Not Answered
Chosen Option : --

Q.12 oy areRa & Y@ifea o ¥ g SR geTavT Ry e e & @ gfw)
TT 3 3P A UTH Y 4T, | & 7 B wifa freh|

Ans g 1 Garoll G818l
X 2. Bl B
X 3. Had drer
X 4. Ha Rga

Question ID : 26433062302
Status : Not Answered
Chosen Option : --

Q.13 et ¥ forg wata <reg forw & § o g2
Ans X' 1. YT

o 2. gaxi

X 3.afan

X 4.

Question ID : 26433069943
Status : Not Answered
Chosen Option : --

Q.14 I F IR T areRIr F g ande weg 3-
Ans X' 1. IRANI

o 2. TR

X 3. SREHRT

X 4. O

Question ID : 26433062227
Status : Not Answered
Chosen Option : --
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Q.15 a1 TR S WG S TR | ) 919 B 2, T I WE B
ST a1 & Raa w9 gff Sfrd gere’ g1 S|

Ans X 1. TR

5 2,318
X 3.9R%
o 4. 9198

Question ID : 26433062616
Status : Not Answered
Chosen Option : --

Comprehension:
fafafad T & oo sl & ger faar man 71 fou Ty fawment ot g @ Raa =i &t gfd
FINT | Ydep T & oIt Tad Iugad fdawed &1 T Piforg|

HRA P UL 1, 81 TgT B YT ST 2. TR 31 P & 3T
ST BT TTeM B 3R T8 Fau 81 HUD 3 off 3. T Ed 81 T % =B I
75 fowEs & @1 ] b WRd 1 5 o1 s Sisas 4. 1 3R U ET 31 bR
ff TR 3R 7Tl & g BT Yy TR 3t oft 5. Bt

SubQuestion No : 16
Q.16 fYed R 1 B gfdd & g Tad Suga fadwey &1 994 S|
Ans g 129

X 283

X 3.3

X 4. TR

Question ID : 264330110981
Status : Not Answered
Chosen Option : --

Comprehension:
Fafafed maw § $o wsal @ el foar w81 AU e fawen ot weraar @ e it @t gfd
FINT | YA e & fore Ga) Iugad fased &1 9a4 Hiforg|

HRA Y YL 1. 21 TgT Bt ST ST 2. TR 81 PR & 3T
e o7 A1 7 SR T8} T § | U et ot 3. A B 7| T 5% ! 9
Tg famrs ¢ 31 R o YR &1 b U a9 BisaH 4. BT 3R YT 21 R
ff TR 3R 7ITal & g Bt iy TR 31t oft 5. Bt B

SubQuestion No : 17
Q.17 fYaa = 2 3t gfd F g we Suga faswea &1 9a+1 S
Ans 1. Wl
X 2.9d
X 3. gaun
X 4.dCH
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Comprehension:

Fufafed maw ¥ $© wsal & gel foar mar 81 3T e fawet ot weraar @ fad it @t gfd
FIT | T BT & foIt Ga Iugad fdeed &1 9a4 Hiforg|

HYRA B YU 1. B TeT Y AMYBT ST 2. Fat 31 P & ST
et &1 T1e § SR I8 U § 1 D 3T 4t 3. o 35 7| Tl T8 RS
75 fawr 2 X61 § b YR &1 foram SfueT oo B1Sa 4. BT 3R YT T 21 R
1t TR 3R 7iTa & T BT ufiy W 311 ot 5. B3I

SubQuestion No : 18
Q.18 f¥aa w1 3 3t gfd & frg wa Suga faswed &1 9a+1 S|
Ans X 1. g3
o 2. 71a1
X 3.fay
X 4.3

Question ID : 264330110983
Status : Not Answered
Chosen Option : --

Comprehension:

o e ¥ $o Weal & ger fear mar 31 o e fawm et @t weran  Rad wiml @ ufd
FIT| Y HBT & folt Tad Iugad fdawed &1 T+ Difor|

YRA S YU 1. B TgT Y AMYHTT S 2. FRet 8| P g ST
i3t BT TTeM B 3R TeT Hau 81 D 3 off 3. o B 7| T $8 axd! §
g T < @1 § b WIRA &1 fopam Sfu1 awrd Bisax 4. FI 3R HITET R R
1t TR 3R TiTa & o B ufiy o 317t ot 5. I

SubQuestion No : 19
Q.19 f¥aa ®I 4 F gff F forg T Suyge fawew &1 9a S|
Ans X 1 Wql
o 2. TR
X 3. g R
X 4.

Question ID : 264330110984
Status : Not Answered
Chosen Option : --
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Comprehension:

Fafafed maw ¥ $o wsal @ gel foar mar 81 3T e s ot weraar & fad it @t gfd
FINT | T & & foIT Ga Iugad fdeed &1 9g4 Siforg|

HYRA B YU 1. T TeT B MBI ST 2. FRat 31 P & ST
ST BT TTeF 7 SR F5] TauTd g1 HP 311l i 3. o 35 7| T T8 RS
g faarg < 81 § b HRA &1 b1 U AT Bl 4. B 3R YT T 51 R
1t TR 3R 7Tat & T BT Ufiy IR 311 ot 5. g 3l

SubQuestion No : 20
Q.20 f¥ad w5 Ft gfd F g Tad Sy faswed &1 9a-1 Bifog|
Ans X' 1. QEH
X 2. &g
X 3. ygde
o 4.3l

Question ID : 264330110985
Status : Not Answered
Chosen Option : --
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